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rm'crﬁﬁ? mﬁ:ﬁmriqamﬂm
m’iaﬁm CaCO — m > Ca0 4

'CaCO ——He—‘“—>CaO+CO“) G
(1) Wﬂ?ﬂ"f (Combination) (2) f?lﬁ\ﬁ:r (Becomposmon)
- (3) fe (Displacement) (4) None of 1 ,'_‘"_'.'.'fj'_,. Ans. (2)
m%ﬁ@mﬁﬁmwﬁ-ﬁhmaﬁ%v

. (Which. gas is. emltted on anode in the electrolysis of

‘water ") e e [2023]

(DH, (2) O (3) O (N, Ans. (D
;! mmma:ﬁ?mwmww%7 (What is

_the other name for oxndatlon-reductlon reaction ?) [2023]

(1) H=reer (Corrosmn) 2R f&%ﬂfﬁ?ﬂ (Rancidity).

‘(3) ™ (Redox) ~ ° (4) None ofthese  Ans. (3)
. Terelt arfuforar m?ﬁmﬁ T FEeAT % (The substances
“that take partina reaction are called) = o [2022F-

(1) STar (oxidising)  (2) sta=mE® (reducing)
(3) HRE (reactants)"' (4) S@r (products) ~ Ans. (3)

HEUT CaCO, CaO+CO fre wER W
sfuferar g 2 (W hat type of reactlon is the equation CaCo,

Heat , ca0+C0O,?) = o [2022]
(1) EFE (Combmatlon) (2) f‘E‘@ﬁﬁ (Decomposmon)
(3) feeqrat (Displacement)

' (4) 577 | BT et (None of these) AN Ans, (8)
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8.

. (I)Zn (2)c (3) zm (4} co Ans. )

vaw At vamaf ol & 2 (What type @W
reaction is respiration 7) 12 022]
(1) =gt (Exothermic) (2) S2IRLT] (Endotherm; ic)

(3) g1 (Combination)  (4) gt a EIERG Ans, (1)

- Pt ¥ @S-t el @ &Pl 2 (Which reaction in

~the following does not take place 7) - [2022
(DFeSO,+Zn - (2)ZnSO,+Cu
- d3) CuSO XTI 4 CuSO +tAl - Ans.(2)

ey ¥ w2 ﬂﬁﬁﬂﬁ m:ﬁw % ? (Whnch of the foﬁiowmg is

_a balanced equation PP X0 12022}

()Na+2HO0 —> NaOH + H . - |

| (2)3Fe+4HO——) FeO +4H
(3) CH, +2O —aCO +H0

(4)3?113‘ S aﬁé & (None of these)__ Pt - Ans. 2)
Zn0+C — Zn+Cﬁ‘ ?Eﬁ?‘% 2 (1t
' the reactlon ZnO + C ~ 3.1';_ _. Zn + C,rwmch is oxidised ?)
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|

TR vy
e Rreww T e et 7Y i 9
turns red by)

(1) & (Acid) () F&vr (Salt)
(3) S (Base)  (4) &% ¥ ¢ 78 (None of these) Ans. (1)
= ¥R X ¥ ? (Which of the following is a base ?)

(1) CH,COOH ~ (@HNO, 2023}
G)NaCl (A NaOH. . Ans. (4)
N = Tt RER (The chemical formula of gypsum
is) | ‘ 3 e 2023)
(1)CaSO,.SHO  (2)CaSO;]. 2H,

(3) CaSO, . 7H,0 (@) CaSO, . 4H O = Ans. (2)
W—WWWMW‘@WW%{W%? (Which
substance turns red litmus paper blue ?) [2022]

- (1) s/ (Acid) (2) &) (Alkali) b S

(3) 7T (Salt) (4) & R @iy T (None of these) Ans. (2)
= 4 @ geer snet £ 7 (Which of the following is a
weakacid?) [2022]
(1) HCl (2) 1,50, I
(3) HNO, (4) CH,COOH Ans. (4)
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W%WW?{W‘W & A ,a.,pmdvm@_

‘in aqueous solutions of agids.) /@ el 11’0225 T

- () H'me (H'ions)  (2) OH- omiet (OH-ious)
- (3) Na*&ra (Na*ions)  (4) O~ oy {O~ions). Am—;@{‘,, .

‘ Eﬁﬁa?ﬁ-mmmm% ? (Wluch acndn&fmnnd menrd 7

e
(U"ﬁf@ T (Tmam. m,,xd) {“P) vﬁ’ ﬂfﬁ' | Lamc acid)

() wivm W (Formm acid) (d) Wﬁ MM (f iiric i id)

Aﬁ‘i 2; , :
3!@'1‘&‘ ﬁ?ﬂﬁ m pH Wﬁ' f%‘?ﬂ %‘ f !‘hﬂ p!i M!w of A"}ﬁ!ﬂ

'solutmn 1s) e it S AT

2o UYTE ("Wf "! 5’4’ d‘*? (wa‘ thar 7) Ans. {2}?
LAY Y ERIETT (equal to 71 (47 % s, (more than 7) -

10, ﬁ'{tﬁ

| '_ (1) CaCo, -

:.;-;;'basiié YL wj“:?} -

Eog axféw &m’m % ? (Wmch is 3 ,n |
= ; ( ‘uwﬁi -f- 1 {4 ﬁ:m. (.; )

,,,,,

bleachmg powder xs)

(3) CaOCl

ﬂ"','.
"_, 5
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3B

(1) AesT (saider) (’?) S

WWW
s ueT

et fa%ga* B0l ua'f'ﬂu‘ T (The best conduictor of
electnclty among the f@llowmg ls) - 12023

1) Cu+: . (& Fe. (3)A1 (4)Zn | "Ans )
Y TH (Sulphur isa) S

- [2023]

(1) oig & (Metal) (2) amrg %‘ (Ncn-metai)

@) R 3 (Mixture) - (4) S # (Metalloid)Ans. (2)
I 3k & 3”]‘ 'FH%T%TF@ ‘&rﬁ‘ 'é" (The alloy of lead and
| o3

tin is calﬂed)

$o (Steei)
(3) T ﬁm (gunmetai) (4} E‘tﬁﬂ‘g (metaﬂmd) Ans. (1)

- Vy...
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Nk

| Wﬁgﬁwa AT _ s
(o : (T RFeE wrr qw %? (General foravida’
CyMagln is fo) e !2023}

o e s 'ﬂ‘lﬁm

C(iyRedw (Alkade) (;))*E;—@ﬁ:;, (Alkene) '_

O3y s (Alkyne) (@) s %% T Ans. (1)

tirsawe W u?mﬁm W % (The functmnal group of 7
Aldehygeis) i {3028 ,,
T ) -CHO iy ‘
(=00, o S M COOHT - 5 Angg ,gz; '
- it b R ﬂfu‘t'm‘ AT ﬁem% ? (Ethanpl 7
redcts 'ﬁm‘s s:mhman m mrm whnch gas . {26231 ’f";ff-._.;j
- ai‘ﬂ QE‘:G (%}N (4) ()0 Ans )




* putrition is)
[2023]

(1) CO, and water q@m |
(3) g W s (Sunhght) % oy
. X Uil U S ¥ (Gastric gland )
(1) T & (Stomach) ) o ﬁs all:e found m)[2023]
g)ﬂ aga ® (Liver) (4) mrev & (gm?:dg:gum yes
‘. T & 9T % (Bile juice is secreted b ) ; S
(1) SFFERE & (Pancreas)(2) BEr 3t & (S ?1) s
(3) &9 & (Duodenum) (4) I a0 (leelga itestlr‘;e)
o BIE da:wret i @ﬁ‘ %‘ 7 (Wluch is the s:;nlg )tA
endocrine gland ?) : [202:6*:S
(1) ofga (Adrenal) (2\ ﬁlzq;e"?r (Pltultary) ;
- (3) AgHr (Medulla) - * (4) wmairEs (Thyroid) Ans @2):
. EET T uEgdr g (Gontre dasease deveiops due to) [2023] |
(1) =l @0 & § (lack ofsugar) i

(2) drerar § (obesity) -

(3) T W i 9 (blood loss)

(4) STEREE B %W 9 (iodine deﬁc1ency)  Ans.(4)

WREE |l g T '% 7 (What is found in anther ?)

(1) &Agst (Corollay -~ (2) sfer™ (Ovary) [2023] |

(3) wrRer (Pollen grains) (4) TN (Gynoecmm) Ansi(3).

ERTIT WYl TRt IR ﬁmﬁ? 2 (n photosynthes;s{f;ﬁf

oxygen is released from) [2022]%
(2)CO,d Ans. (1)

(1) 5 | (Water)

3 )I@Tﬁ g (Glucose) (4)q"°fsﬁﬁ q (Chlg»mphyll) _‘
ottt vaE & et =l o & (Wh'ﬁt LS formeaf_g;

as a result of anaerobic resplratlon.__._...__

(1) g (Glucose) (2) QR EpIAg: &
(3) ST (0xygen) (4) TN ';
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VE2ONMNL (NIUCOUSE )

() SRS (Oxygen 4) v it
W@aﬁﬁa%ﬂég?)(wn” -
parasite ?) e
- (1) Uit (Rhlzoblum) Q)RR i
(3) f%e (Orchid) - . (4) wesx (Mﬁéiiﬁito) Ans. (2) -
R D WA W ow wm %? (Whatnstheﬂmd
portion of biood caﬁled ") g [2022] |
- (1) <=1 (Plasma) (2) %?Rcr (Semm)

1.

() eEi@ (Lymph) - (4) EFF% (Artery) - . Ans. (1)

qFEl & TEY | it e W % (The number of chambers
. in the. heart of a fish 1s) | T [2022]
(12 - 2)3 (3) 4 (4) ®Had TH Ams. (1)

12,

13.

Wﬁﬁ%@?ﬂﬂ’ﬁ m%a‘rw&a% (The kidney in
human is the part of a system which is related to)[2022]
(1) 9rwor § (Nutrition) . (2) %97 & (Respiration) Ans. (3)
(3) G?H‘«'ri*l‘ ¥ (Excretion) (4) uf@eT & (Transportation)
urar W ¥ (Magnesium is found in)  [2022]
(1) stk # (Chlorophyll) (2) @& & %<1 # (RBC)
(3) vt @e@ A (Chromoplast) (4) | kol T (W BC) Ans. (1)



'Gﬁa \'ﬂ"'ﬁ %‘& Tm‘?r % 2
1 W ﬁ |IQEH T’ﬁ ﬁ’“‘“ Eﬁﬁ '@?ﬂ %? (Whereaoesthe
~ process: of l‘ertlhsatlon take place in humans ?) ° [2023] "
() i F (Uterus) (2) lfrfi'f ﬁ (Vagma)
. Q)eEw ¥ Ovay) s
@ %ﬁhﬁw AT ﬁ (Falloplan tube) Ans (4) |
3. T g faﬁx B S e % 7 (Whlch reprodiices
" bybudding7) o e o)
. (1)\3FﬁE|T (Amoeba) (Z)E’IE;T (H) dra)
() W (Mucor) AﬂS~ @
3, .WEw A ﬁwe% m (IDS is caused by)[2022]'f-._?§
 (1)ShEr (Bacteria) -+ (2) B
@) (Fungus) -~
AR R B R (The anther"contams) [2()22}
S (Dar&’I T (sepals) L (2) SERE (OV'aFY)

 (3)ofeT (Ovules) . %(4) TR (Pollde) Ans “(:g)
' ﬁﬁfga aigmm WTHT Afully matur Wﬁi‘}* is called)
Tﬁ ( 12022}

(1) G:'&T (Frult)
(3) é’l?rng (Ovule)




M m a5 -di:ﬁ‘ m mﬁr ’& (The genetlc constntuﬁ
 of an individual organism is called) [2023
(1) Brerey (phenotype) - (2) SHIERY (genotype)

- (3) engERwE (heredity)  (4) fafr=en (variation) Ang, 2)
2. T oot ¥ w-R R QU B ¥ 7 (Which g,

chromosomes are found in a woman ") ¢ [2023]
XX (2) XY 4 (3) XXX (4) XXY Ans, (1)



. mirrox of its radiu rva ,
(DR T (Twice) - (2) o (Half) 7y
(D gE (zero) i il . (2) T (positive) AR (3):

UG ES /
' (PHYg '
e

R T et o
real focus ‘?)E"Wam ‘ @ﬂT g7 (Which Mirror has
(1) Staewy (COIICaVe) f 2) s 4 | :
) Faw (Plane) (4) 571 Onvex)
RE T W Ay g ¥ B e

MIFTOX IS used in fyg;¢ OEW B T Gy

. ' @) — !
(3) =50 A% (om) (2)-100 By (cm)

mﬁwmwmﬁa% 1 (T g 0
. by a convex mir
- (D ss=r (inverted)

G (The image formec

o, 2022]
' _ (2) ariferss (real)
i?)\?ﬂﬁf?jﬁ (ma.gniﬁed)‘ - (4) drr (erect)

ror is always)

Ans. (4)

: g_z" ST T WM S TR B oy T

< ! &ow many time s the focal length of a sphefigs
sof curvature ?) [2023}

Ans, (
_(4) 579 9 =5 7é (None of these)

(3) =R Tt (Four times) Yo
A L Vionth of

12022]

uf Y -
.........

¥ iﬁ' It § (The fcmal

(3) FMH (negative)  (4) T diEe (none s hese)



. the main types of ‘Sﬁﬁéticél'lenses N

o, D% O00) Q)2 (Two) (3) (i
\ oo 2t & (A real magnified image is formed by a convex
lens when ihe Objectis placed) =~

T by
- (OFR@F) (3 F 3R 2F & 919 (betwe

; en F and 2F)
(3) 9 X F & gy (between lens and F) 5¢& & ¢
(4) 2F SR oy 3 oy (between 2F and infinity) Aps.
IPGRALURIRE G § o R R S gty %, N " 5
Y (When a ray of light travels from air to glass, it bends)
(1) stirie & wwigy (parallel to the normal) [2022)
(2) otftig W (away from the normal) -
Q) wtEe & e (towards the normal) .
g&g S q B+ (None of these)



£
a i

e =‘r>r agar 'rrr—-ﬁmn ‘{iri:rrr

ﬁwmmaﬁaﬁw—wﬁvﬁmw%?mmch

- phenomenon of light occurs prism 7).~ [2023]
(1) WS (Reflection)  (2) stvarts (Refractlon) :
(3) avf Ry (Dispersion)(4) 5% & & & Ans. @)

S-ghe eﬁmm%ﬁn‘s{mqfﬁmw%?my

_the use of whmh !ens 1s eye defect of presbyopxa

corrected D) i e e [2023]
(1) sraaa a9 (Ccncave lens) (2) \mﬁ i (Convex lens)

 (3) fa-Fima F@ (Bifocal lens) ()3 ¥ BT Ans.(3)
mmﬁmﬁmmww@m% ? (Whatcolounsthe
- danger sign made of ") A 2

(1) e (Blue) (2)-@1% Red) -
(3) &7 (Green) 5 (4) 'ﬂiﬂT (Yellow) Ans (2)



4 e ﬁ aw ‘% (0lJlr cyes have A, ||

43 gHaa (plane) - (4) Fa-Paedh (bifocg]
SR G T,

(1) o1 (concave) - (2) Sua (convex)

€ radiyg

~“oficurvature of the lens of eye is controlleg by) [2022)

(1) gt (Pupil) (2) gftees (Ret Ina)

;.-'Z

-'}"

Z/-"

""2"-’

(3) T wiwARET (Ciliary muSCles)

(@) aRaRer (Iris) ™ R Ans, 3)
C e ghe = SR ET {ﬁ a;r 'HT-IE "Wf ‘3 (The standarg

value of the maximum dnstance of clear vision is) {2022]
(125ecm  ()25m "(3)25m (4 ). 87T Ans, 4)
Wﬁv%wﬁwwmﬁmmm}gm
MRS S ? (Which defect can be removed by the use of

- a spectacle of concave lens ") [2022] |
(1) e giedy (Short 51ghtedness) '

(2) 3 ey (Long. s1ghtedness)
(3) ST Ffe=ly (Presbyopia) - ‘?'f-:’.'\:l. G
(4) Sﬂﬁ ¥ ¥ & (None of these) ] Ans 1)

fewfenr, m%%mﬁaﬁm%? (Which

Om¢ ight does the twinkling of a star represent ?)
)55 (Reﬂectlon of light). . [2022]
#9337 (Refraction of I ght) R

% '-;; (Scatterlng of light) .

(4) : 'Sm "Er aﬂf—faé’mnr (Dlspersmn of hght) Ans. (2)




%m'
”@‘BW"

. ‘Famr W S mwa; % (The S.I. umt of pmmnal
~ difference is) - e [2023]
(1)@= (volt) (2)@1[ (ohm) |
- Q) (coulomb) (@) wEer (ampere) Ans. (1)
2. T aitug ® maﬁm%mmmfﬁmm
e (What is used to meas

ure current m electrlc circuit ?)

= ";;’_z:-.;-}.,:'} _;";}j.fj-?";"f"-:.f'f,.' [2023]
> (I)‘@FR@E‘{ (Voltmeter) (2) TERIHE

IS (Galvanometer) 5
P {3)@%3{ (Ammeter) (4)(';_;;_; Qqﬁé;ﬁﬂ- A )




3

4.

~ through a bulb ")

_vll

%&ﬁmﬁ 1 fime o lzowwmmﬁm%
A varfed "R W R w2 (What will be value of

electrlc if 120 coulomb charge is passed for 1 minute

- O [2023)
M1A - 224  (3)4A) #)3A  Ans. (2)

T gine ﬁiqﬁ S ‘ﬂ‘wT m‘vr ‘3’ (The value of one unit of

electrical energy. is) o (20231

M36x10T () (2)3.6x 10 s ()

(3) 3.6 x ‘1056@ A (4)3.6x 1066;_@ @  Ans. 4y



i\a@l gRT W aﬂa ﬁ gigﬁl H*?l‘ e -§ (Thedevme{ 5,{,». 3 7

electric current is called) Ly , [2023}: ;
(1) st (Generator) - (2) R ( Ammeter)
(3 ) A (MOtOI') (4) ﬁ@?ﬁrﬂa (Galvﬁnometer)

becomes) o £ .
(1) F&a aﬂ?ﬁﬁ (very hlgh) (2)E|§T~T %E‘%' (ye Iy
(3) = (zero) (4) ﬁﬁ l?f



AR N hee IR T

5 39 EG ﬂ‘ (The tiger is f consumer of) [2023

@)s ‘ﬁ'fiﬁ | w0 (first trophlc level)

(2) TeiT Wi W wr (second trophic level)

SR L] I (third trophic level) o

Rl (ncme of these) 5 Ans. (3)

TR s e et e o 2 (W hen was ‘Chipko

m mrement’ sta"'f".':»-""if*’"‘ Mgt [2023]
o o 197 964" ”'f?‘7(4) 1962 Ans. (1)
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